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1.Synchronous motors are

gl AR gidt 8-

(a) self-starting A LeIferT

(b) not self- starting TR-¥h Terferm

() self-starting, at reduced slip =Jlpd f&Td TR deh
Terfén

(d) not self - starting, at higher slip 3= fd W -
e I

Ans : (b)

2. The construction of a synchronous motor is
similar to __

deadledt Aie Pl Tae fFHafeilad & 9HM gldt 8-
(a) a dc compound motor . Hl. #ghue AR
(b) a slip ring induction motor f&TT f3T1 RUT AR
(c) a dc shunt generator 3. . 2f¢ 3 RER

(d) an alternator 37eTAeR

Ans : (d)

3. The synchronous motor runs at

JeadTett AR fafeiRad @is | Ferd! 8-

(a) less than synchronous speed gedideit 7Tfd & &H
(b) synchronous speed deddTeit 7Tfd TR

(c) more than synchronous' speed deddTeit 7Tfd &
3ffeis

(d) none of these ETH A ®Ig &l
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Ans:(b)

4. The synchronous motor runs on
gedabTeit AR fafciRad W wretdt 8-

(a) ac supply T3t gTs

(b) both ac and dc supply T&t. 3R . t. 11 gwars
() dc supply . It geers

(d) 3 - phase dc and single phase ac supply 3- %37 &l.
It 3R fGret Ot ©. . et

Ans:(b)

5. Synchronous motors are usually operated at
Jdeadledt A AR A fHafeifad W yaferd gdl-
(a) unity power factor 3&TS UTeR thae

(b) leading power factor 3TIPFTTHT UTeR thareR

() lagging power factor UTTHT UTeR Thaex

(d) depends upon voltage Ig dleest R fAR @Rar &
Ans : (b)

6.The alternators are rated in.....

eecdl & f[Fufeifda # swiifdsa far smar
(a) watt /d1c

(b) kVA

(c) HP

(d) kVAR

Ans : (b)
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7. Is used to cool alternators having high kVA.
3o KVA dTel 316 e Bl 88T TR &b BIH 31TdT &
(a) Water cooling/ aTex FfaiT

(b) Hydrogen cooling / ET&gI5H FfciT

() Oil cooling/3TTeT FHfcT

(d) Air cooling/ TR FfaT

Ans : (b)

8. The machine which runs by steam turbines is
called as

g€ HRA 371 WA &8 & Ied © ...... BEATdl &l
(a) Turbo alternator/esTf 37eeiAeR

(b) Hydro alternator/ gT83! 37ee1c?

(c) Gaseous alternator / A 31eeAeR

(d) Vapour alternator / arsq 37ce3qe

Ans : (a)

9. An exciter provides T TaITSeR YGH dial &l

(a) DC supply/3t. . gwers

(b) AC supply/e 3. TtIrs

(c) Both AC and DC supply C. &Y. T 2. . geetrs 1At
(d) Neither AC nor DC supply 7 €. 9. 7 st.3ft. geard
Ans : (a)

10. The alternator brush rides on a-
e Rl FAufafad w 3Rifa &ar &-
(a) slip ring / f&u for

(b) commutator/BRIER

(c) armature / 37THR
(d) none of these / 10 & P18 T8l
Ans : (b)

12. Salient pole rotor is used for

AT Yd AR B y4a fFufeiida & fae fasar sar e-
() low speed generator with more number of poles
/ eI Ydi & Fr 77 &g 5iRR

(b) high speed generators with more number of
poles / 31ftids Yl &b AT 3= Tt AR

(c) low speed generators with low number of poles
/ B Ydi & d1 [y Titg 5iRR

(d) high speed generators with low number of
poles / &H Ydl &b AT 3= Tt ARKR

Ans: (a)

13. Loss of excitation in large synchronous
generators occur when

g3 godbIett SR # 3a5H-211H 39 IAY Bldt 8 5Td-
(a) high leading power factor persists /3 31TTHT
UTeR %R PITAR AT 8T &

(b) loss of power connection of dc supply occurs
/3. T, T B UTeR B Hi el et &

(c) magnitude of current is half the rated current /
i BT uRAToT ek ®ie &1 smen gar e

(d) loss of stability occurs / fe2RaT & &HT 31Tdl &
Ans : (b)

(c) Fotor /AR 14. The magnetic field in an alternator is developed
(d) diode /sT1S in the
Ans : (a) NeeAe? A gadia & fAafefad # 3cud gar 8
(a) stator / &R

1. The magnetic field in developed in an alternator (b) rotor /AR
iS . (c) armature / 37THeR
NeeAc) A Fradbig & FAafefad # gar e - (d) none of these / 518 & B8 T8l
(a) stator / X Ans : (b)
(b) rotor /AR
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15. An 8 pole alternator is rotating at 375 rpm. If the
number of poles is doubled, what will be the new
frequency?

UE 8 Uil UTdde 375 rpm W gH 381 21 Ife tiedl bt
AT 2 AT B &t S1TE dl il 3rrgfd bt git?

(a) 25Hz

(b) 100Hz

(c) 75 Hz

(d) 50 Hz

Ans : (d)

16.0ne hydro alternator has 20 poles and rotates at

3300 rpm. Then its frequency is

T T85! 3TeTex b 20 U € 31k 3300 3(R. ot TH. W
I Rl &1 SHH! 3Tl T erit?

(a) 600 Hz

(b) 500 Hz

(c) 550Hz

(d) 660Hz

Ans : (¢)

17. A synchronous machine is called as doubly
excited machine because-

dedadbTedt ARAHT Y St 35wt wer sirar &
Fifds-

(a) it can be over excited 8& 31fd 3af3a fasar 51T
qbar g

(b) it has two sets of rotor poles 3dH IR Ydl & &l
AcElde

(c) both its rotor and stator are excited 39 e 3R
KR aHI 3alEdeld 8

(d) it needs twice the normal exciting current 88
TTHTRI 3351 URT & QI ERT 6T 37aTdaT erdl &
Ans : (¢)

18. Asynchronous motor is switched on to supply
with its field windings shorted on themselves. It

will

TP AIc Bl 3MYfd B & et o] fasar sirar &,
fSiadb! thies ansfsm Wg & i 8 Tdt 81 a8

(A) not start [ &l

(B) start and continue to run as an induction motor
TP $3dRM HIC & BY H B 3R TeTHT 5T

(C) start as an induction motor and then run as
synchronous motor B IRUT HICX & U H [ EldT &
3R fo qeaIferes Hiex & 9 & Terar @

(D) bum immediately.gid W

Ans: C

19. When the excitation of an unloaded salient pole
synchronous motor gets disconnected

fSthAde 81 STdT 8

(A) the motor will bum AR gH ST

(B) the motor will stop Al &g & siTesft

(C) the motor will ran as a reluctance motor at the
same speed HIcI U & 71fd & Teh 31 Al & B
H e

(D) the motor will run as a reluctance motor at a
lower speed.HIeX &H TIfd W THh HfAgd Al & B A
Tt

Ans:B

20. The damping winding in a synchronous motor is
generally used fapIAT Hiex & ST ar3f3m &7 3mdR
R 39T 35T STTaT 8

(A) PBaet B3I €idb UG &3 &b AT to provide
starting torque only

(B) MR & TR dI BH PR & AT to reduce noise level
(C) TSt YR Bl BH B & AT to reduce eddy
currents

(D) RIBR B A 3R BT e YeH B & faiel
to prevent hunting and provide the starting torque.
Ans:D
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21. The back emf set up in the stator of a
synchronous motor will depend on f&hIAT AR B
LR | WU1fUq 9 Feqes Rk wom

(A) ddat AR 7 rotor speed only

(B)AE 35T dadl rotor excitation only

(C) e 37311 3R AR 711G rotor excitation and rotor
speed

(D) A pIvT, AR 7fd 3R 3A5HT coupling angle,
rotor speed and excitation.

Ans:B

22. An over excited synchronous motor draws
current at

U 31fd 3cATfed Jedblfcid HIe R URT Wiadt @
(A) lagging power factor T£PTTHT UTeR thaex

(B) leading power factor UH 2Afth BRP

(C) unity power factor BdhdT 2Ifdh BRE

(D) depends on the nature of load Wiﬁﬂq?ﬁq?
R earz

Ans:B

23. With the increase in the excitation current of
synchronous motor the power factor of the motor
will

eI AR & vawTsTiie die § gfg & a1 MR &
greR e BT
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(A) improve FuUR

(B) decrease wHT

(C) remain constant &R &

(D) depend on other factors. 31~ BRI W TR &ar
2

Ans: A

24. The armature current of a synchronous motor
has large values for

Th JeadbITcid HIeR & ATHTR YRT BT A 93T EdT &

(A) low excitation only &del BH 3T

(B) high excitation only e 3T 3

(C) both low and high excitation €I &H 3{R 3=
EGEC]

(D) depends on other factors.37I BRI &R R Har

=
Ans:C

25. Asynchronous motor is switched on to supply
with its field windings shorted on themselves. It
will...

CfAHI AieR &1 3MYfd 6 & e ane] fasa sirar @
3R 5ab! Hies arsfsr @i e 6 sirdt 21 8.

(i) not start IR T8

(ii) start and continue to run as an induction motor
TP $SdRM HIcI b U H B AT 3R TeTHT 5T a1
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(A) only (i) | ddd (i) (C) unity Tdhar

(B) only (ii) | daeT (ji) (D) none of the above 3udd® H A BIs &l
(C) both (i) & (ii) | &Y (i) 3R (ii) Ans: A

(D) none of the above 3ud® # A BIs &l

Ans:C

26. If the field of a synchronous motor is under
excited, the power factor will be

IfG Th geadIfcid Alc &l & 375X TaNTscs &, al
qreR e g

(A) lagging fassAT

(B) leading 3mroft

Download App . Page | 2
CSTA I.ﬂunl:hpﬂd g Subscribe You.Tube Cha.rjnel ge |
© Open Mind Guruji " Google Play © 0pen Mind Guruji




